NEGOTIATED PROCUREMENT (LEASE OF REAL PROPERTY AND VENUE)

Standard Form No. SF-G00D-60 Revised on May 24, 2004 Date: February 17, 2021 RFQ No. MM-2021-02-008

Various Suppliers/Contractors San Jose, Antique/Iloilo City

Please quote your lowest price on the item/s listed below, subject to the General Conditions stated herein the shortest time of delivery and submit your quotation duly signed by your representative not later than <u>February 24, 2021</u> at Room 2, 2nd Floor, Integrated Health Office, Atabay, San Jose, Antique at 2: 00 o' clock p.m. in the return envelope attached herewith.

RIC NOEL A. NACIONGAYO, MD, MPA, FPSMS Provincial Health Officer II/BAC Chairman (Procurement Officer)

				(Procurement Officer)				
ITEM NO	QTY	UNIT	DESCRIPTION	UNIT COST	TOTAL ABC/UNIT	BRAND Offered	BID PRICE/UNIT	TOTAL BID PRICE
			Lease of Venue with Catering Services Relative					
			to the Conduct of Various Activities of the					
			Provincial Health Office					
ı			Stakeholders Collaborative Meeting on					
			Emerging, Re-emerging Infectious Diseases					
			on March 26, June 18, 2021 in San Jose,					
			Antique					
1	25	pax	am snacks	100.00	2,500.00			
			double layer ham, bacon and egg sandwich,					
			bottled calamansi juice 330ml					
2	25	pax	lunch	300.00	7,500.00			
			steamed rice, adobong manok, kadyos					
			baboy langka, grilled yellow fin tuna, talong					
			salad, fresh fruit (banana), buko juice in					
			glass 250 ml					
			June 18, 2021					
3	25	рах	am snacks	100.00	2,500.00			
			clubhouse sandwich, bottled water 350ml,					
			mango juice in can 330ml					
4	25	pax	lunch	300.00	7,500.00			
			steamed rice, baked scallops with cheese,					
			grilled fish, ampalaya salad, sinigang na					
			baboy, fresh fruit (banana), fresh buko					
			juice in glass 250ml					
Ш			Orientation on the New Manual Procedures					
			on TB on April 1, 2021 in San Jose, Antique					
_	05		April 1, 2021	400.00	0.500.00			
5	25	pax	am snacks	100.00	2,500.00			
_			molo soup, 2 pcs bread, bottled water 350ml,					
	05		juice in can 330ml					
6	25	pax	lunch	300.00	7,500.00			
			rice, buttered chicken, pork chopsuey,					
			nilagang baka, chocolate cake, juice in can					
_			330ml		_			
7	25	pax	pm snacks	100.00	2,500.00			
			chicken burger, bottled water 350ml, juice in					
			can 330ml					

		1				1	
Ш			Transmission Assesment Survey on April 5-6,				
			2021 in San Jose, Antique				
			April 05, 2021				
8	15	pax	am snacks	100.00	1,500.00		
			palabok with sliced toasted bread, bottled				
			water 350ml, juice in can 330ml				
9	15	pax	lunch	300.00	4,500.00		
			rice, shrimp sinigang, porl estofado, lumpiang				
			gulay, beef with mushroom, leche flan				
			(individually packed), bottled water 350ml,				
			juice in can 330ml				
10	15	pax	pm snacks	100.00	1,500.00		
			clubhouse sandwich /w 4 layers of sliced				
			bread (spread should include scrambled				
			egg, ham, cheese, mayonnaise and veggies				
			like lettuce or cucumber), bottled water				
			350 ml				
			April 06, 2021				
11	15	pax	am snacks	100.00	1,500.00		
╒		Lave	burger steak, bottled water 350ml, juice in	_50.00	_,555.65		
$\vdash \vdash$			can 330ml				
12	15	pax	lunch	300.00	4,500.00		
	13	pax	rice, kare-kare, fried chicken, sinigang na	300.00	4,500.00		
			tanigue, brownies, juice in can 330ml				
13	15	nov		400.00	4 500 00		
13	15	pax	pm snacks	100.00	1,500.00		
			royal bibingka (big), bottled water 350ml,				
			juice in can 330ml				
IV			Meeting on Lymphatic Filariasis Elimination				
$\vdash \vdash$			Program on May 10, 2021 in San Jose,				
\square			Antique				
			May 10, 2021				
14	30	pax	am snacks	100.00	3,000.00		
			cheesy spaghetti, bottled water 350ml, juice				
Щ			in can 330ml				
15	30	pax	lunch	300.00	9,000.00		
			rice, fried chicken, porl chop, fish fillet,				
			brownies, bottled water 350ml, calamansi				
			juice in glass 250ml				
16	30	pax	pm snacks	100.00	3,000.00		
$oxedsymbol{oxedsymbol{oxed}}$			2 layered ham and egg sandwich, bottled				
			water 350ml, juice in can 330ml				
V			Semi-annual Water Quality Monitoring				
			Committee Meeting and ZOD on June 10,				
			December 16, 2021 in San Jose, Antique				
			June 10, 2021				
17	25	pax	am snacks	100.00	2,500.00		
			royal bibingka (big), bottled water 350ml,				
			juice in can 330ml				
18	25	pax	lunch	300.00	7,500.00		
H		-	rice, pork adobo, beef steak w/ brocolli,				
\Box			lumpia, bottled water 350ml, juice in can				
			330ml				
H			December 16, 2021				
19	25	pax	am snacks	100.00	2,500.00	 	
 - 		Pun	royal bibingka (big), bottled water 350ml,	20.00	2,500.00		
Ш			ייין אויייין אויייין אויייין אוייייין אוייייין אוייייין אוייייין אוייייין אוייייין אוייייין אוייייין אוייייין			ļ	

			juice in can 330ml			
20	25	pax	lunch	300.00	7,500.00	
			rice, pork adobo, beef steak w/ brocolli,			
			lumpia, bottled water 350ml, juice in can			
			330ml			
VI			Malaria Stakeholders Meeting on June 29,			
			2021 in San Jose, Antique			
			June 29, 2021			
21	25	pax	am snacks	100.00	2,500.00	
			double layer ham, bacon and egg sandwich,			
			bottled calamansi juice 330ml			
22	25	pax	lunch	300.00	7,500.00	
			steamed rice, adobong manok, kadyos			
			baboy langka, grilled yellow fin tuna, talong			
			salad, fresh fruit (banana), buko juice in			
			glass 250 ml			
VII			Consultative Meeting on Dengue on August			
			5, 2021 in San Jose, Antique			
			August 5, 2021			
23	25	pax	am snacks	100.00	2,500.00	
			bihon guisado, 2 pcs bread, bottled water		,	
			350ml, juice in can 330ml			
24	25	pax	lunch	300.00	7,500.00	
		•	rice, grilled pork, sweet and sour pork, native		1,00000	
			chicken w/ kadios and langka, fruit salad,			
			juice in can 330ml			
VII			Consultative Meeting for TB Program on			
			September 1, 2021 in San Jose, Antique			
			September 1, 2021			
25	25	pax	hototay, toasted bread, bottled water 350ml,	100.00	2,500.00	
		•	juice in can 330ml		_,	
26	25	pax	lunch	300.00	7,500.00	
		-	rice, chicken teriyaki, nilagang baka, sweet		,	
			and sour pork, fruit salad, softdrinks in can			
			330ml			
27	25	pax	pm snacks	100.00	2,500.00	
		•	special ensaymada, bottled water 350ml,		_,	
			juice in can 330ml			
IX			Collaborative Meeting on Rabies Program on			
			September 5, 2021 in San Jose, Antique			
			September 5, 2021			1
28	25	pax	am snacks	100.00	2,500.00	
		F 427	molo soup, pandesal, bottled water 350ml,		_,555100	<u> </u>
			(twister) orange in plastic bottle 355ml			
29	25	pax	lunch	300.00	7,500.00	
		Par	rice, chopsuey, fried chicken, beef steak,	330.00	1,000.00	
			vegetable lumpia, brownies, calamansi juice,			
			in glass 250ml			
Х			Water Safety Plan Orientation and Updates			
			on October 1, 2021 in San Jose, Antique			
$\vdash \vdash$			October 1, 2021			
30	25	pax	am snacks	100.00	2,500.00	
"		Pux	macaroni soup w/ toasted bread, bottled	100.00	۷,300.00	
			water 350ml, juice in can 330ml			+
31	25	pax	lunch	300.00	7,500.00	
91	23	Pax	14.1411	300.00	1,500.00	

			rice, lechon kawali, crispy fried vegetables,				
			grilled bantalan, nido soup, fresh lemonade				
			in glass 250ml				
32	25	pax	pm snacks	100.00	2,500.00		
		•	clubhouse sandwich, bottled water 350ml,		_,,,,,,,,,		
			juice in can 330ml				
ΧI			1-Day Consultative Meeting on Leprosy				
			Program on October 7, 2021 in San Jose,				
			Antique				
			October 7, 2021				
33	25	рах	am snacks	100.00	2,500.00		
			cheese burger, puto cheese, bottled iced tea				
			500ml				
34	25	pax	lunch	300.00	7,500.00		
		•	rice, shrimp sinigang, porl estofado, lumpiang		,		
			gulay, beef with mushroom, leche flan				
			(individually packed), bottled water 350ml,				
			juice in can 330ml				
XII			Local Aids in Council Meeting on November				
			3, 2021 in San Jose, Antique				
\dashv			November 3, 2021				
35	25	рах	am snacks	100.00	2,500.00		
		рил	burger steak, bottled water 350ml, juice in	100.00	2,300.00		
			can 330ml				
36	25	pax	lunch	300.00	7,500.00		
			rice, kare-kare, fried chicken, sinigang na		1,000.00		
			tanigue, brownies, juice in can 330ml				
37	25	pax	pm snacks	100.00	2,500.00		
-		P	royal bibingka (big), bottled water 350ml,				
			juice in can 330ml				
XII			Program Implementation Review on				
7			Environmental and Occupational Health on				
			December 1, 2021 in San Jose, Antique				
			December 1, 2021				
38	25	рах	am snacks	100.00	2,500.00		
30	23	pax	bihon guisado, 2 pcs bread, bottled water	100.00	2,300.00		
			juice in can 330ml				
39	25	pax	lunch	300.00	7 500 00		
33	23	þax	rice, grilled pork, sweet and sour pork, native	300.00	7,500.00		
			chicken w/ kadios and langka, fruit salad,				
-			juice in can 330ml				
			Juice in can Souni				
			Note:				
			venue within San Jose, Antique, training hall				
			is airconditioned with projector for				
			presentation, sound system, rostrum table				
			set-up good for 4-5 persons per table				
			buffet food service with free flowing water,				
			coffee/milk/chocolate drink				
			GRAND TOTAL ABC		170,000.00		
\dashv			GILLIO TOTALADO		0,000100		
1						i I	

- 2. MAYOR'S PERMIT.
- 3. PhilGEPS REGISTRATION CERTIFICATE SHALL BE ATTACHED UPON SUBMISSION OF THE QUOTATION.
- 4. BIDDERS SHALL SUBMIT ORIGINAL BROCHURES SHOWING CERTIFICATION OF THE PRODUCT BEING OFFERED
- 5. OMNIBUS SWORN STATEMENT (COA Circular No. 2012-001 (9.2))
- 6. BRAND NAME SHOULD BE REFLECTED IN THE BID OFFERED, IN CASE NOT AVAILABLE THE MANUFACTURER'S NAME SHOULD BE STATED.
- 7. BRING SAMPLE ONCE REQUIRED DURING POST QUALIFICATION/EVALUATION.
- 8. PARTIAL BID IS NOT ALLOWED.
- 9. INCOME TAX RETURN (ITR)

 $After having \ carefully \ read \ and \ accepted \ your \ Terms/Conditions \ and \ Requirements, \ I/We \ quote \ you \ on \ the \ item \ prices \ noted \ above.$

Place of Inspection:	Caterer's Venue within San Jose, Antique		
Place of Delivery:	Caterer's Venue within San Jose, Antique		
Delivery Period:	March 26, April 1, 5, 6, May 10, June 10, 18, 29, August 5,		
	September 1, 5, October 1, 7, November 3, vDecember 1, 16, 2021		

Printed Name/Signature
Company's Name
Tel. No./Cellphone/E-mail Add.
 Date